
1-22. sorularda, cümlede boş bırakılan yerlere 
uygun düşen kelime yada ifadeyi bulunuz.

1-
The management team are clearly worried by the sharp  ……………     in sales over the last three months.

A) 
improvement
B) 
estimate
C) 
rise
D) 
decrease

E) 
frequency

2-
There was very little support for the strike as most of the workers seemed …………… with the present conditions.

A)
content 
B)
frustrated

C) 
disturbed
D) 
reluctant

E)
skilled

3-
It was only a slight- cut and the doctor felt that his patient was  ……………  the amount of pain he was feeling. 


A) 
suffering
B) 
explaining


C) 
ignoring
D) 
obtaining


E) 
exaggerating

4-  
Most international airlines ask travellers ……… their flight details 72 hours before departure

A) 
to secure 
B) 
to forgive

C) 
to support
D)
to confirm

E) 
to persuade

5-  
John has decided to close his grocery shop because he says that it is not very ..........to run a small shop, there being so many supermarkets in town.

A) 
valuable 
B) 
proficient 

C) 
commercial
D) 
genuine

E)
profitable

6-
Helen’s ……………   working on a research project, so she might not be interested in our offer.

A) 
considerably
B) 
currently
C) 
formerly
D) 
naturally

E) 
approximately

7.   
After a long discussion about their position, some climbers were for returning to their base-camp while others were for ....... in the hope of reaching the top with one last effort.
A)  
running out 

B)
giving up


C) 
breaking away


D)
keeping on

E)
taking after

8.
He may be a very clever research worker, but he's very poor at ....... his ideas to his colleagues.
A)
calling off 
B) 
running into 

C)
putting across   
D) 
running out

E)
wiping out
9-
Although he was skilled ……………
using computers, he wasn’t familiar  ……………  the make and model used In him new job.


A) 
in/with
B) 
at/for

C) 
for/about
D) 
from/along


B) 
on/from

10-
The Keanes didn’t like their new house …………… , but they slowly got used to it.

A)
in the end 

B)
at first

C) 
at the moment

D) 
on average

E) 
on their way

11-
Irene has always been sheltered by her mother and now, she has a strong dependency …………  her.


A) 
from
B) 
towards


C) 
upon
D) 
after


E) 
without

12-
This new system is far ……… complicated than the old one.

A) 
much 
B) 
too

C) 
such
D) 
most

E) 
less

13-
Certain occupations, …………… airline pilot and tour guide, are attractive because of the travelling involved.


A)
as if
B)
not only


C) 
whether
D) 
rather


E) 
such as

14-
He never seems to do any work,  ……… he always does extremely well in exams.


A)
so
B)
yet


C) 
for
D) 
and


E) 
already

15-
It seems that ……………
Holland …………   

Italy is going to win the European Football Championship.

A)
both/and 
B) 
whether/or

C)
either/or 
D) 
not only/but also 

E) 
neither/and

16-
The politician about ……………   lifestyle there has been a lot of speculation recently has handed in his resignation.

A) 
who 
B) 
whom

C) 
that
D) 
whose

E) 
when

17-
Jane doesn’t believe that she can persuaded her father to let her come with us, ……………?      


A) 
does she
B) 
can he

C) 
do we
D) 
can’t she


E) 
doesn’t he

18-
Rakı, the most famous Turkish drink, ………     white when water  ……… to it.

A)
turns/is added

B)
is turning/has added

C)
was turning/added

D)
has turned/will be added


E) 
turned / had added

19-
The board ……………that production …………… tenfold by the end of this financial year.


A)
has estimated/is increasing

B)
had estimated/was increasing

C) 
estimates/will have increased

D)
estimated/increased

E)
will estimate/increases

20-
As soon as the referee ……………    the final whistle, thousands of supporters  ……………  onto the pitch to celebrate their team’s victory.

A)
will blow/are flooding

B)
has blown/were flooded

C) 
is blown/will flood

D) 
blew/flooded

E)
had blown/will have flooded

21-
These tomatoes…………… thoroughly before they   ……………

A)
must be washing/have eaten

B)
should be washed/are eaten

C) 
have to wash/were eaten

D) 
are washed/are eating

E) 
had to be washed/were eating

22-
I wish you ……………me his plans, as now I won’t be able to stop worrying.

A)
hadn’t told
B) 
didn’t tell

C)
haven’t told
D) 
aren’t telling


E) 
don’t tell
23. -27. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
Spanglish is a name used to refer to a range of language-contact phenomena, primarily in the speech of Hispanic Americans, (23).......... are exposed to both Spanish and English. These phenomena are a product of close border contacts or large bilingual communities, (24)......... along the United States-Mexico border, in Florida, and in New York City. Spanish and English have interpenetrated in any number of ways. For example, a bilingual fluent speaker

speaking to (25).......... bilingual speaker may

indulge words from both languages as in, "yo me voy a get up" (as opposed to "yo me voy a levantar" or "I'm going to get up"). (26)..........

than that are word borrowings from English into Spanish, using false cognates with their English sense, or translating idiomatic English expressions. For example, the word carpeta exists in standard Spanish, meaning "folder", but in the USA it is common to see it used to mean "carpet". This is a straight borrowing of an English word, (27).......... is the very common verb chequear/checar "to check", the noun parkin "parking", and countless others.

23.

A) 
that 
B) where

C) 
which 
D) whose

E) 
who

24.

A) 
whereas 
B) 
such as

C) 
where 
D) 
so

E) 
that

25.

A) 
another 
B) 
their

C) 
none 
D) someone

E) 
them

26.

A) 
Commonly

B) 
More common

C) 
In common

D) 
The most common

E) 
Uncommon

27.

A) 
thus 
B) 
like 

C) 
and
D) 
what

E)
as

28. -32. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
An eight-month pregnant Russian woman and parachuting enthusiast, Marija Usova was

warned by friends not (28).......parachuting.

Nevertheless, she arranged to do the jump anyway, saying that she wanted her baby to have the wonderful feeling of falling freely through air before it was born. While in mid-air, halfway through the jump, she went into labour. As she describes the experience: "I was in the air when I suddenly felt a massive pain, and I realized that it (29)...... . I cried out, 'Oh God! help me!' and kept my legs held tightly together, but (30)......that there really wasn't much more I could do. Every second of that descent felt (31) ...... an eternity." She also said that, as she fell, she nearly passed out (32)......times from the pain. Upon landing, she immediately began to give birth, and doctors who were on hand immediately arrived to help her. It was a baby girl, and Ms. Usova has decided to name it Larisa, because she says: "It means 'seagull' in ancient Greek."

28.

A) 
going                

B) 
being gone

C) 
to have gone          

D) 
to go

E) 
having gone

29.

A) 
has started

B) 
will have started

C) 
had to start

D) 
is starting

E) 
was starting

30.

A) 
along             
B) 
apart

C) 
beyond               
D) 
among

E) 
towards

31.

A)
as though 
B) 
as

C) 
so 
D) 
like

E) 
more

32.

A) 
plenty 
B) 
several

C) 
a number
D) 
lots

E) 
much

33-42. sorularda, verilen cümleyi uygun 
şekilde tamamlayan ifadeyi bulunuz.

33-
People with fair skins should try to stay in the shade ……………  

A)

because many of today’s suntan-lotions 



are extremely effective


B)

for it offers no real protection from the sun

C)
when the sun is as hot as it is today
D)
but the sun at midday is more intense

E)
as a healthy suntan looks so attractive

34-
As we’d forgotten to bring any glasses….   

A)

I found they greatly reduced the glare to my eyes

B)

we had no choice but to drink directly out of the bottle

C)
fortunately, the local shop sold plastic cups

D)
the small print proved Impossible for him to read

E)

the cans of beer will remain unopened in the picnic basket 

35-
…………… , but it’s still quite pleasant to lie on the beach.

A)

The local council have done a great deal to clean up the coastline

B)

We spent many hours searching the rock-pools for crabs and starfish

C)
The sea here isn’t warm enough to swim in

D)
There had been a terrible storm the night before

E)

The children like nothing better than building sand castles

36-
Unless she gets the pay-rise she wants…..       

A)
she’ll definitely quit at the end of the month

B)
the cost of living is increasing so quickly

C)
the manager would not even listen to her claim

D)
she wouldn’t have walked out quite so abruptly

E)

which must be at least two per cent above inflation

37-
In order to prepare themselves for the expedition to the Antarctic ……………

A)
which is leaving by helicopter in two weeks’ time

B)
there will be scientists and geologists on it too

C)

none of them have ever attempted anything similar before

D)
where very few animals can survive for very long


E)

they are doing special training at sub-zero temperatures

38-
…………… ,or it will go off if it’s left out here any longer.

A)

A deep-freeze requires a continuous supply of electricity for the food in it

B)
Please put that bottle of milk in the fridge

C)

During the winter months, you can keep your fruit out on the balcony


D)

In centrally heated houses, vegetables should be refrigerated even in winter


E)
We bought more food than was really necessary

39. 
I would have appreciated it if ………
A)


you could have left a message that you may be late

B)


you might have phoned that you wouldn't be late

C)

they would inform us of the delay

D)

you could have phoned that you would be late

E)

they would be able to send a telegram in time

40. 
Your pullover won't shrink ………
A)
unless you dry it naturally

B)
if you dry it naturally

C)
when you don't pay much for it

D) 
when you wash it in hot water

E)

unless you follow the washing instructions

41. 
There was such a very long queue at the bus stop that ………
A) 
the taxi driver refused to take me 

B) 
there is no place for the buses

C) 
I couldn't recognise him on the bus 

D) 
we left half way through

E) 
I decided to walk instead

42. 
Nobody in the class knows the exact date ………
A) 
how people will earn money in the future 

B) 
whether you may come with us

C) 
if people will live on the moon someday 

D) 
when they discovered the island

E) 
whether should they be ready on time

43. — 46. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

43. 
Yes, sorry, but we just couldn't wait.
A) 
Why didn't you wait for me?

B)  
You don't mind if I'm a little late for dinner, do you?

C) 
Can you please be on time tonight?

D)  
Will you wait for me if I happen to be late?

E)  
You haven't eaten already, have you?

44. 
Yes, he's absolutely amazing, isn’t he?
A)  
Have you seen that new film yet?

B)  
Did you know that Alex can speak seven languages?

C)  
Do you know about the two Ukrainian brothers contending for the heavyweight championship?

D) 
Why was Roy Keane sent off in yesterday's match?

E)  
I'm really looking forward to the next holiday. How about you?

45. 
It doesn't matter; any time's alright for me.
A)  
Do we need to do any shopping today?

B)
Why haven't you been going to school lately?        

C)  
Have you got anything planned for today?

D) 
When would you like to go shopping?

E)  
What would you like to have for dinner?

46.
 I saw him in his office just a few minutes ago.
A)  
Can I make an appointment to see Professor Richmond sometime?

B)  
I've been looking everywhere for you -where on earth have you been?

C) 
You don't know where Professor Richmond is, do you?

D)  
Why did Professor Richmond give us so much homework?

E)  
You're coming from Professor Richmond's office, aren't you?

47-50. sorularda, verilen İngilizce cümlenin Türkçe karşılığını bulunuz.

47-
Since most people want environ​mentally-friendly products, industry has had to bow to consumer wishes.

A)

Pek çok insan çevre dostu ürünler istemeye başladığından beri endüstri tüketici isteklerini dikkate almaktadır.

B)

Endüstrinin tüketici isteklerine boyun eğmesinin nedeni çoğu insanın çevre dostu ürünler istemesidir.

C)

İnsanların çevreye yararlı ürünler istemesine rağmen, endüstri tüketicileri dinlememekte ısrar ediyor.

D)

Pek çok insan çevre dostu ürünler istediği için endüstri tüketici isteklerine boyun eğmek zorunda kalmıştır.

E)

Eğer endüstri tüketicilerin isteklerini dinliyorsa insanların çoğunun çevreye zarar vermeyen ürünler istediklerini biliyordur.

48-
Teaching children moral values is the parents’ duty rather than the teachers.

A)

Ailelerin öğretmenlerden daha önemli bir görevi vardır ki o da çocuklarına ahlaki değerleri öğretmektir.

D)

Ailelerin en önemli görevi öğretmen​lerden önce çocuklarına ahlaki de​ğerleri öğretmektir.

C)

Çocuklara ahlaki değerleri öğret​mek sadece öğretmenlerin değil ailelerin de görevidir.

D)

Çocuklara ahlaki değerleri öğretmek, ailelerin ve öğretmenle​rin ortak görevi olmalıdır.

E)

Çocuklara ahlaki değerleri öğret​mek, öğretmenlerden çok ailelerin görevidir.

49-
Jane’s bedroom wall was covered in postcards from just about every city in Europe.

A)

Jane, yatak odasının duvarını Av​rupa’nın hemen hemen her ken​tinden kartpostallarla kaplamıştı.

B)

Jane’in yatak odasının duvarı Avrupa’nın hemen her kentinden kartpostallarla kaplıydı.

C)

Jane’in yatak odasının duvarında neredeyse tüm Avrupa kentlerinin kartpostallarını bulmak mümkündü.

D)

Jane, Avrupa’nın birçok kentinin resimlerini yatak odasının duvarını süslemek için kullanmıştı.

E)

Jane’in yatak odasının duvarında, neredeyse tüm Avrupa kentlerinin kartpostalları vardı.

50-
One of the European Economic Community’s main goals is to remove the trade barriers between member nations.

A)

Üye ülkeler arasındaki anlaşmazlıklar ortadan kaldırmak Avrupa Ekonomik Topluluğu’nun başlıca görevidir.

B)

Avrupa Ekonomik Topluluğu’na üye ülkeler arasındaki ticaret anlaşması henüz uygulamaya konmamıştır.

C)

Avrupa Ekonomik Topluluğu’nun başlıca hedeflerinden biri üye ülke​ler arasındaki ticaret engellerini ortadan kaldırmaktır.

D)

Üye ülkeler arasında ticaret birliğinin oluşturulması Avrupa Ekonomik Topluluğu’nun amaçlarından biridir.

E)

Avrupa Ekonomik Topluluğu ticaret engellerinin ortadan kaldırılması için üye ülkeler arasında arabuluculuk yapmaktadır.
51-54. sorularda Türkçe cümlenin İngilizce dengini bulunuz.

51-
Sanırım, Paris’ten döndüğünde Fransızca’n epeyce ilerlemiş olacak.

A)

I believe you will be able to improve your French during your stay in Paris.

B)

I suppose you should go to Paris for a while so that you can improve your French.


C) 
I think your French will have improved a great deal by the time you get back from Paris.

D)

I suppose you will improve your French as you’re going to stay in Paris for quite a long time.

E)

I think you should stay in Paris for a while if you wish to improve your French.

52-
Bölgedeki ayrılıkçı grupların bir anlaşmaya varabileceğine kimse inanmıyor.

A)

Everybody thinks that the separatist groups in the region should reach an agreement

B)

The general belief is that there can’t be an agreement between the separatist groups in the region.

C)

Many people don’t believe in the possibility of an agreement between the separatist groups in the region.

D)

An agreement between the separatist groups in the region is regarded as impossible by everybody.

E)

No one believes that the separatist groups in the region can reach an agreement.

53-
Avukatlar müvekkillerinin  savunması

için kanıt toplamak üzere daha fazla zamana ihtiyaçları olduğunu söylüyorlar.

A)

Apparently, lawyers want more time to gather evidence for the defence of their clients.

B)

Lawyers are saying that they need more time to gather evidence for their clients’ defence.

C)

Lawyers have demanded that they should be given enough time to compile the evidence for their clients’ defence.


D)

Lawyers claim that they aren’t given sufficient time to assemble evidence to defend their clients.


E)

The lawyers have asked to be given more time to find enough evidence for the defence of their clients.

54-
Parlamentoda en fazla sandalyeye sahip olan parti hükümeti kurar ve başbakanı seçer.

A)

In order for a party to form a government and elect the Prime Minister, it has to have the highest number of seats in Parliament

B)

The more seats a party has in Parliament, the more chance it has of forming a government and electing the Prime Minister.

C)

A party can only form a government and elect the Prime Minister if it has enough seats in Parliament.

D)

The party with the most seats in Parliament forms the government and elects the Prime Minister.

E)

The government is formed by the party with the most seats in Parliament, and its leader becomes Prime Minister.

55-57. soruları, verilen parçaya göre cevaplayınız.

Between 1817 and 1825, New York built the Erie Canal at a cost of over $ 7.000,000 and linked the Hudson Valley to the Great Lakes.

The canal was an immediate success. Even though the rates charged for travel on the canal were extremely reasonable, the tremendous volume of traffic on the waterway made it possible to pay for the initial cost of the canal within twelve years.

The success of the Erie Canal guaranteed New York its place as the largest city in the United States.

55-
The Erie Canal  ……………   

A)
was expensive to travel on

B)

was unsuccessful for the first twelve years

C) 
quickly became overcrowded

D) 
took eight years to build

E)
ran through the centre of New York

56-
The cost of travelling on the canal ………

A)
deterred many from using it

B) 
was not at all high

C)
was kept high for the first twelve years

D)
was extremely expensive

E)
delayed repayment of the original $7 million

57-
The canal    ……………

A)

was too expensive for the cost to be met by New Yorkers alone

B)

ran through a very large part of the United States 

C)

earned the money spent on its construction in only twelve years

D)
was built by very skilful engineers

E)
could only be opened for use after seven years

58-60. soruları, verilen parçaya göre cevaplayınız.

Torbay, a British holiday resort, advertises itself as ‘The English Riviera”. This is an attempt to persuade people to come to the resort for its warm climate. It was Torbay’s mild climate which first attracted visitors to the town In the eighteenth century. At that time, it was becoming fashionable for the rich to “resort” to the coast in the summer. This was largely due to the belief that warm sea water could cure various ailments. The real growth of tourism in the region began with the arrival of the railway in 1848.

58-
According to the passage, Torbay ………

A)

is not accessible by any means of transport ether than by train

B)

is particularly preferred by those with ill-health as its sea water has great curative properties

C)

is a very fashionable resort for the rich, both from the domestic and the foreign markets

D)

received its first tourist visitors in 1848 popularity as a tourist


E) 
gained destination when trains started to go there

59-
The first visitors to Torbay  …………… 

A)
came mostly from the Riviera region

B)

chose it because of the attractive advertisements

C)
went there mainly for their health

D)
had to travel there by sea

E)

spent hours on old-fashioned trains in order to get there

60-
It is implied in the passage that Torbay.…      

A) 
has warm coastal waters

B)

has declined in popularity since the eighteenth century

C)
is only visited by the rich and fashionable

D)

needs clever advertising to attract visitors

E)
has the best weather in Britain 

61-63. soruları, verilen parçaya göre cevaplayınız.

In the multitude of practical problems you must meet every day, you cannot always be fighting. So it is better to allow yourself a few mistakes than to keep turning every little problem over and over. Such indecisiveness will certainly create emotionally. induced illness. The best rule to follow, therefore, is to make your decisions without changing your mind too often. Decide what you are going to do about a problem and then quit thinking about It

61-
In the writer’s opinion, you should ………

A)

put a problem out of your mind once you’ve decided what to do

B) 
ignore any problems that arise


while you are emotionally unwell

C)

minimize the number of mistakes you make when dealing with a problem

D)

not change your decision even if you know it’s not the best 

E)

examine a problem carefully In order to avoid mistakes

62-
According to the writer, it  is inevitable for us
……..….

A)
to change our minds frequently

B)

to become emotionally ill at some time in our lives

C)
to Ignore a problem rather than try to handle it

D) 
to face a lot of problems every day 

E) 
to turn every problem over and over

63-
The writer feels sure that      ……………

A)

it is best just not to think about most daily problems

B)

thinking over problems too much will cause emotionally induced illnesses

C)

making a few mistakes with a problem leads to further problems

D)

most people make mistakes because they are so indecisive

E)

you have a very low chance of making the right decision about most problems

64-66. soruları, verilen parçaya göre cevaplayınız.

In China, before reforms, it would have been hard for workers even to imagine the situation they enjoy today. in former days, if you had a nine inch black-and-white TV set that was the standard of wealth. Today if you don't have a colour TV, you are considered poor. But today inflation has affected people's consumption. Workers are dissatisfied and the government has taken note. In China five people are doing three people's work and five people are eating three people’s food. Everybody thought that was socialism.
64.
The identifying element for someone's wealth in the past was ………
A) 
the inflation has affected people's consumption 
B) 
a nine inch black-and-white TV set

C) 
five people were eating three people's food

D) 
especially workers were dissatisfied with the government

E) 
having difficult life conditions

65. 
According to the passage, we cannot say about China that ………
A) 
concept of wealth has changed 

B) 
all people are of middle class

C) 

there is less food and more unemployment 

D) 
workers are dissatisfied

E)
inflation has affected people's consumption

66. 
The thing causing dissatisfaction among workers --- ,

A) 
is improving standards of life 

B) 
is working less

C) 
was not having colour TV 

D) 
must be the government 

E) 
is inflation
67-69. soruları, verilen parçaya göre cevaplayınız.

The Russian team that looks after Lenin's mummy has been put in charge of preserving a 3000-year-old tattooed man. Moscow's Centre for Biological Structures  took delivery of the natural mummy soon after it was discovered in Siberia this summer next to the body of a horse. Siberia's permafrost had preserved the man named the Horseman-  so well that his red hair is still attached to his skull and the tattoo of a large elk can still be made out across his back and chest. He had been buried wearing embroidered trousers, a fur coat and high boots. Without treatment his body would very quickly deteriorate because of exposure to heat and light. His skin would darken, making his tattooing invisible. Experts at the centre hope to prevent this, as they have succeeded in doing with another corpse. In 1932, a 2.400 year-old woman, also tattooed, was found in the same area high in the Altai mountains, and rushed to the Centre. Once the decay of the woman was halted, anthropologists managed to re-create her face by studying her skull. Once the Horseman is similarly preserved, a process that begins by placing his remains in a chemical bath, he will also have his face reconstructed. He is then to be displayed across Russia in a travelling exhibition.

67.
The corpse owed its preservation to ………


A)
the horse buried next to it 

B)
the archaeologists discovering it

C)
the arctic conditions of north Russia       

D)
the winter clothes it was wearing

E)
the magical effects of its tattoo

68.
The process which the Horseman is undergoing at the Centre     ……… 


A)
helps it go bad more slowly


B)
protects it against heat and light

C)
turns its skin darker          


D)
makes the tattoo disappear    


E)
is being tried out for the first time

69.
We can NOT infer from the passage that ..

A)

the two corpses will be displayed to the public after the treatment is over.


B)
cold has conservatory effects.


C)

the Horseman dates back to an earlier date than the woman discovered.


D)

facial reconstruction of a corpse is possible if the skull is present.


E)

the Horseman will have a face lift before he starts his tour.

70-72. soruları, verilen parçaya göre cevaplayınız.

For nearly 50 years, the place officially didn't exist - but it has left a very real heritage.  The USSR's  Kazakhstan bomb test site and nearby town of Kurchatov have an incidence of cancer 70 per cent higher than the national average, which is already higher than in the West. Nearly 500 nuclear explosions took place at the site - but only when the wind was blowing north to carry the radioactive debris away from the city where thousands of scientists and staff lived. The farmers of Kazakhstan's plains and mountains were on the receiving end of the, deadly fall out.

The explosive power of the Kazakhstan nuclear tests was more than 2.500 times that  of the bomb that flattened Hiroshima. The local population now live in a lonely, contaminated landscape; The result is a plague of cancers and birth defects.

Giving in to intense pressure, Boris Yeltsin closed the test site in 1991. Kurchatov is now a ghost town, populated by the shadows of the victims.       

70-  "The place" in line 1 refers to :


A)
the USSR


B)
the town of Kurchatov




C)
Hiroshima        


D)
the bomb test site


E)
the plains and mountains

71-
The rate of cancer incidence in the area indicates that   ………
A)
the rate is lower in Europe

B)
Russia should start a clean-up task.

C)
there is a link with bomb testings

D)
contamination causes birth defects

E)
radioactive debris is carried away to the west 

72- 
If the bomb dropped on Hiroshima flattened the city  ………     

A) 
it is only natural that Yeltsin closed the test-site

B)
no one would like to live in Kurchatov

C)

it was a good idea to carry out the tests on windy days

D)

the cancer rate cannot be higher than 70 per cent


E)

the tests in Kazakhstan must have had more fatal effects 

73-75. soruları, verilen parçaya göre cevaplayınız.

Edgar Allan Poe is often considered the father of the short story, but he is also remembered for his beautiful poems. From his standpoint, the purpose of literature was to entertain. To do this, he used his imagination, showed unusual skill with emotional effects, and often used morbid and mysterious settings and his favourite subject was death. He also became very popular overseas, particularly In France. His best-known short story is ‘The Gold Bug’, which along with others, like ‘The Purloined Letter”, helped to set the standard for modern detective novels. 

73-
According to the passage. Edgar Allan Poe ……    

A)
is better-known for his poetry than his stories

B)
never wrote about anything but death

C) 
is the most popular author in France

D)
considered death an entertaining


subject in his writing

E)

is a modern-day writer of detective novels

74-
We can infer from the passage that the two short stories mentioned ……………

A) 
included some beautiful poetry

B) 
were detective stories

C) 
were about death

D)
only sold well in France 

E)
were written by Poe’s father

75-
Many people believe that the short story ……….     

A) 
should be morbid and mysterious 

B) 
can be written as skilfully as poetry

C)
can only be used for detective stories

D)

is entertainment rather than true literature

E)
started with Edgar Allan Poe

76-80. sorularda,verilen cümleye anlamca en yakın seçeneği bulunuz..

76-
Taking photographs inside the museum is strictly forbidden.

A)

There are no photographs showing what the museum looks like inside.

B)

It’s not advisable to try to bring a camera into the museum.

C)

No one has ever taken a photo inside the museum.

D)

We were only able to take photos of the museum’s exterior.

E)

People are not allowed to photograph the interior of the museum.

77-
It’s only with his last novel that he’s attained any notice in the literary world.

A) 

The world of literature has acclaimed his most recent novel as his best.

B)

Until the publication of his last book; he hadn’t been acknow​ledged in the literary area.

C)

His latest book is so outstanding that it has even impressed the literary world.

D)

Only his latest novel has achieved the honour of being praised by all in the literary world.

E)

His most successful novel so far, which is also his most recent, has made him one of the best-known authors.

78-
Not even a downpour would have prevented them from going on their hike.

A)

It wasn’t even pouring down when they postponed their hike.

B)

They didn’t even attempt to go hiking when it started, to rain.

C)

It was only the torrential rain that stopped them from going hiking.

D)

They would have been prevented from going on their hike even if it hadn’t poured down.

E)

They wouldn’t have cancelled their hike even if it had rained heavily.

79-
So far, during their stay at this hotel, that couple have done nothing but complain.

A)

Throughout their time at this hotel, that couple have had no complaints.

B)

Up until now, that couple haven’t had anything to complain about at this hotel.

C)

Since they got to this hotel, nothing has caused that couple to complain.

D)

They’ve only made a couple of complaints about this hotel so far.

E) 

All that couple have done since they arrived at  hotel is complain.

80-
Although she said otherwise, I felt certain that she’d been offended by my remark.

A)

I didn’t feel that what I’d said was insulting, but she said it was.

B)

I was sure my words had caused her no offence: otherwise, she’d have told me.

C)

I was convinced that she’d taken my comment as an insult despite her claim to the contrary.

D)

I was in no doubt, because of her later attitude to me, that she was insulted by my comment.

E)

Even though my remark was offensive, she assured me that it hadn’t bothered her.

81-85. sorularda, paragrafta boş bırakılan yere uygun düşen ifadeyi bulunuz.

81-
Thirty years ago, most teenagers had bicycles, ……… , and even those boys and girls who have them do not use them as often. On the other hand, motor scooters are much more common. At first sight, this may seem a sign of progress, but in fact the change is not necessarily for the better.


A)

and those who didn’t envied their more fortunate friends

B)
yet today the computer game has taken over 

C) 
but now they are comparatively rare

D)

for parents were happy to let their youngsters wander 

E) 

however, the roads were much safer then

82-
 ……… For some people it is an exciting proof of man’s adventurous spirit, bringing scientific progress. But others believe that it is a waste of money that should be spent on improving living conditions here on earth and solving the problems of poverty and hunger.


A)

We have recently heard of yet another polar expedition
B)
Space research is still a controversial issue

C)

There are still those whose aim is to climb Mount Everest

D)

Without explorers, much of the world would remain a mystery

E)

Sailing round the world is one of the greatest challenges

83-
The ship first appeared as a small speck on the horizon. We had grown impatient at the delay and cheered when we caught sight of it. For most of us this was an important event,  …………… Husbands, fathers, brothers and friends were coming home after an absence of four years.

A)

the chance to leave our troubles behind and make a new life overseas

B)

as it was several months since the last shipment of fruit had arrived

C)

for we had worked so hard to launch this magnificent vessel on her maiden voyage


D) 
because the small object that had come into view was a troopship

E)

but for the workers busy In the harbour it was just another day

84-
…………… ; however, it wasn’t always like this. In the 1950s, many women used to wear thin high heels which were often dangerous and unhealthy. Still, they were better than the sixteenth century shoes which were about fifty centimetres high. 

A)

Footwear as a fashion accessory is mainly a concern of women

B)

Dangerously high heels have become fashionable again

C)

Followers of fashion change their shoes every season

D)

Finding the footwear to match your outfit is a problem


E)

Most of today’s women prefer the comfort of flat shoes

85- 
Tourism has become very big business in many countries. For them it is the largest source of foreign exchange. ……………, and thus, questions of hotel bathrooms, beach umbrellas and ice-cream sales are now discussed by ministers of tourism with great seriousness.

A) 

Faced with this huge source of income, no government can afford to look down on the business

B) 

Package holidays, which are cheaper. have become very popular In recent years

C)

But for many locals living in the resorts and near the airports, tourism Is just one big headache

D) 
The development of the tourist 

industry. however, can bring problems as well 



as benefits to an area

E)

This however, has had the adverse effect of pulling many workers away from farming and fishing

86-90. sorularda verilen durumda söylenebilecek sözü bulunuz.

86-
You are in a clothes shop looking for some new trousers. The shop-assistant offers to help you, but you’d prefer to look round on your own, so you politely say:

A)

Have you got any black trousers suitable for work?

B)

Thanks very much, but I’m not really looking for anything in particular.

C)
Yes, please. I’m looking for a pair of trousers.

D)
Could I possibly try these trousers on please?

E)
It’s OK, thanks. I’ll call you if I need any help.

87-
Your parents are discussing where to go on holiday this year. They assume you’re going with them, but you’d like to go somewhere with your friends, so you ask them:

A)

Do you think I can go on holiday with my friends instead?

B)

My friends are all allowed to go on holiday alone, you know,

C)

If you go to the same place again, I’m definitely not coming with you!

D)

May I invite some friends of mine to come on holiday with us?

E)

Do I have to come with you? I’d much rather stay here with my friends.

88-
You want to change your hair-colour and your friend suggests her doing it for you at home as it will be cheaper. Not entirely certain that you trust her, but wanting to save money, you warn her:

A)

Are you sure this colour will suit me? I don’t want to end up with a strange colour.

B)

Thanks, but I think I’d rather get a professional to do it.

C)

Well, alright, but if it’s awful, you’re paying for the hairdresser to put It right.

D)

Why don’t you do your own hair first so I can see how it turns out?

E)

Good idea. I can’t really afford to pay the prices charged at the hairdresser’s.

89-
You are looking for a new house to buy. You find a beautiful one, but it’s a bit too expensive. You are prepared to pay the full price if the owner leaves the furniture, so you write to the estate agent to enquire about this. You write:

A)

This house is too expensive, so I would like to see something else.


B) 
I want to buy this house, but the price will have to come down.

C)

I think the furniture isn’t worth as much as the owner is asking.

D)

If the contents of the house remain, I will purchase this house.

E)

Please could you send details about the size of the house, number of bedrooms, etc.

90-
Your partner and you have just moved into a new house and are redecorating. Your partner wants to paint the living-room in a shade he has chosen from a catalogue. Knowing that the colours don’t always turn out exactly as they appear in catalogues, you suggest:

A)

Why don’t we get a little pot of the paint and test it on a small area first?

B)

Oh no, that colour is far too bright, and it wouldn’t go with our furniture. 

C)

Yes, I think that colour would be absolutely perfect. How much do we need?

D)

Let’s look at a few more catalogues before we make a decision.

E)

Well, if the colour doesn’t look as good as you think, what are we going to do then?

91-95. sorularda, karşılıklı konuşmanın boş bırakılan bölümünde söylenmiş olabilecek sözü bulunuz.

91-
Andrew
: I see they are still investigating 




the cause of the fire at that hotel.


Tony
: ……………             


Andrew
: Do you agree?


Tony
: Yes I do, but It will be difficult to 




prove    in court.

A)
I don’t think they’ll ever find out who started it.

B)

They say the damage would have been worse if the wind hadn’t dropped.

C)
The manager there Is a close friend of mine.

D)
Some people think it was started deliberately,

E)
I stayed at that hotel a few months ago.

92-
Mr Paton: I see The Times has yet another 




article on Inflation. Have you 



read it?


Mrs Paton: No, but I intend to. The 



situation is 
obviously getting 



serious. 


Mr Paton: ……………        


Mrs Paton: You may be right but I hope 



It’s not as serious as that.

A)

Definitely! If nothing’s done soon, I’m sure the government will fall.

B)
It is, Everybody at the office was talking about it.

C)
They should have written about inflation before.

D)

Well. I don’t really understand economics or politics.

E)

Yes, even newspapers are very expensive these days.

93-
Jack
: My elder brother’s taking his 



driving test again today.


Tom
: ……………


Jack
: Yes. He’s been getting extra 



driving tuition.


Tom
: Well, let’s hope you are right.

A)
How many times has he taken it?

B)

Oh yes! Do you think he’ll pass this time?

C) 
He failed his first test, didn’t he?

D) 
Why did he fail last time?

E)
He’s got a new car, hasn’t he?

94-
Johnny
: Pete’s been told to go and see 



the headmaster.


Arthur
: Why? What’s he done wrong?


Johnny
: ……………           


Arthur
: Oh, that’s O.K. Pete will be 



pleased.

A)
He’s been late every day this week.

B)
Do you think he’ll be back in time for the lesson?

C)

Nothing. The headmaster’s going to give him a special award.

D)

He told me that Mr Johns asked him to go.

E)

I didn’t know that the headmaster was in his office just now.

95-
Alice
: I’m worried about my son Tom. 



He spends so much time sitting 



watching TV.


Ruth
: Mm. My daughter, Sally, used to 



be the same.


Alice
: ……………


Ruth
: Well, you could try to get him 




interested in a hobby or sport. 



That’s what I did with Sally and it 



worked!
A) 

Does your daughter still watch a lot of TV? 

B)
He only likes cartoons and films.

C)

Yes. Sally and Tom are friends, aren’t they?


D) 
You can’t imagine it. He watches TV about five hours every day.

E) 
What do you think I should do?

96-100. sorularda, anlam bakımından parçaya uymayan cümleyi bulunuz.

96-
(I) Every summer the roads are crowded

with holiday-makers. (II) But during the winter months, when fewer people go on holiday, the situation is not as bad. (III) And travelling In this season becomes a nightmare. 

(IV) This is because traffic accidents claim hundreds of lives. (V) With a few precautions and a little care, however, most of these accidents could be avoided.

A)I 

  B)II          C)III            D)IV              E)V

97-
(I) During adolescence, the transitional period from childhood to adulthood, a person undergoes many changes both physically and psychologically. 
(II) If adolescents are found guilty of an offence, they are not punished in the same way an adults.


(III) They are sent to a special juvenile court, where the magistrates consider their age. their home and what their teachers say about them. (IV)They may be let off with a fine or a promise not to get Into trouble again. 


(V) But, if the offence is more serious, the young offender is sent to an institution.

A)I 

  B)II          C)III           D)IV              E)V

98-
(I) Solar energy isn’t a very recent phenomenon at all. (II) Even back in the 1930s, solar water heating systems were being made and installed. (III) The costs of installing solar energy certainly are higher than for other heating systems, yet it has a lot of advantages. (IV) But solar energy didn’t come to wide use until just recently. 

(V) Today, more and more solar heating systems are being designed, especially for large buildings like schools, offices and hotels.

A)I 

 B)II          C)III             D)IV              E)V

99-
(I) At about nine o’clock my wife and I were just finishing our dinner. (II) Just then, there was a knock at our front door. (III) We were both surprised. (IV) For our house Is outside the town, and we hardly ever get visitors so late in the evening. (V) It was Sam and Pamela, whom we’d invited for a bridge party after dinner.

A)I 

  B)II           C)III            D)IV              E)V

100-(I) Although modern equipment has made work in the coal-mines a little easier, the main things in a miner’s day have not changed. 


(II) He still has to work down in the mine. 1,500 feet deep. (III) In some parts of the world, coal is extracted by surface mining though. (IV) For the first few yards. the walls are painted white and there is plenty of light. 


(V) But then It becomes dark and there is a strong wind blowing coal dust Into the miner’s face.

A)I 

  B)II           C)III            D)IV              E)V

İNGİLİZCE DENEME SINAVI 4





1-	Cevap kağıdınızda  Yabancı dil bölümüne işaretleyiniz.


2-	Bu testte 100 soru vardır. Cevaplama süresi 150 dakikadır.


3-	Cevaplamaya istediğiniz sorudan başlayabilirsiniz.
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